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Mastery Activities
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Problems using division in context
Present pupils with two problems that involve the same division calculation but that, in context, require a
different answer.

For example:
Problem A Problem B
Danny is reading a book that has 34 pages. Each | Katie has 34 meters of fabric to make flags. Each
night he reads 10 pages. How many nights will it | flag will use 10 metres of the fabric. How many
take him to finish the book? flags can she make?

| What'’s the same? What's different?

Model strategies from step 2 to find the answer
to 34 = 10. Challenge pupils to use the inverse
of a multiplication fact as the initial and most
efficient strategy.

34-10=3r4.

In both problems, we need to find out what
In Problem A, we need to find out a number
of nights but in Problem B, we need to find
out how many flags can be made.
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Problem A

Problem B

What is the answer to the problem?
How do you know?

It will take Danny 3 nights to read 30
pages but he will still have 4 pages
left so he will have to spend another
night getting to the end of the book.

The answer is 4 nights.

What

Katie

with 30 metres of fabri
have 4 metres left over but that's not
enough for another whole flag.

the answer to the problem?
How do you know’

will be able to make 3 flags
She will

The answer is 3 flags.

Support pupils to understand that a division calculation leads toward an answer to a problem but the

context needs to be considered.

Pupils will sort problems on handout_2L.S27_step4_division_problems into those that need to ‘drop back
to the whole’ (as with Katie's flags) and those that need to ‘go up to the next whole’ (as with Danny’s

reading).
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There are 28 hoops in the hall.

Sets of 5 hoops can be hung on

ahook. How many hooks will be
needed?

Each bouquet of flowers needs 5
sunflowers. Daisy has 23
sunflowers. How many bouquets
can she make?

Ashop sells golf balls in packets
of 5. They have 37 golf balls in
stock. How many packets can

they fill?

Tia has made 17 cupcakes. Each
of her boxes can fit 2 cupcakes.
How many boxes can she fill?

A factory makes 47 motorbikes in
a day. Each lorry transports 10
motorbikes. How many lorries

will be needed to take all of the
motorbikes?

William has collected 35 football
stickers. 10 stickers fit on each
page of his album. How many
pages will he use to stick in all

of his stickers?

Each table has 5 seats. There

are 27 children waiting to each

lunch. How many tables will be
needed?

How many 5-a-side
football teams can be made
with 48 people?
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36 children are going on a trip.
Each minibus holds 10 children
How many minibuses will be
needed?

Circle the correct answer.
A — 3 minibuses
B — 4 minibuses

Explain your choice.
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Oliver has 49 jelly beans. He is
making packs of 10 for his
friends. He thinks he will be
able to make 5 packs.

Explain why he is wrong.




